

## Weighted second main theorems and algebraic dependences for holomorphic maps from disks

by  
NGUYEN THI NHUNG

### Abstract

In this paper, we first prove second main theorems with weighted counting functions for holomorphic maps from a complex disk  $\Delta(R) \subset \mathbb{C}$  with finite growth index into  $\mathbb{P}^n(\mathbb{C})$ . Then we apply these theorems to solve the algebraic dependence problems of holomorphic maps sharing moving hyperplanes in general position.

**Key Words:** Nevanlinna theory, weighted second main theorem, holomorphic map, moving hyperplane, algebraic dependence.

**2010 Mathematics Subject Classification:** Primary 32H30, 32A22; Secondary 30D35.

## 1 Introduction

In 1990's, W. Stoll, M. Ru [11] as well as M. Shirotsuki [15, 16] began to study the second main theorems for meromorphic maps into projective spaces  $\mathbb{P}^n(\mathbb{C})$  with moving hyperplanes. M. Ru [12] was also the first one who proved the second main theorem with truncated counting functions for holomorphic maps of  $\mathbb{C}$  into  $\mathbb{P}^n(\mathbb{C})$  and moving hyperplanes in 2001. After that, these results have been reproved and extended by many authors, such as [18], [13], [6], [4], [7], ...

In 2020, M. Ru and N. Sibony [14] introduced a new class of holomorphic maps into  $\mathbb{P}^n(\mathbb{C})$ , which has finite growth index. In their paper, they gave the second main theorem for holomorphic maps from a disk  $\Delta(R) \subset \mathbb{C}$  into  $\mathbb{P}^n(\mathbb{C})$  involving hyperplanes in general position, where  $\Delta(R) = \{z \in \mathbb{C}; |z| < R\}$ ,  $(0 < R \leq +\infty)$ . Very recently, S. D. Quang [8] proved the second main theorem for holomorphic maps from disks with moving hyperplanes.

To state Quang's results as well as ours, we recall the following.

Let  $\{a_i\}_{i=1}^q$  be  $q$  holomorphic maps of  $\Delta(R)$  into  $\mathbb{P}^n(\mathbb{C})^*$  with reduced representations  $a_i = (a_{i0} : \dots : a_{in})$  ( $1 \leq i \leq q$ ). The family  $\{a_i\}_{i=1}^q$  is said to be in general position if  $\det(a_{ijl}; 0 \leq j \leq n, 0 \leq l \leq n) \not\equiv 0$  for any  $1 \leq i_0 < \dots < i_n \leq q$ . Let  $\mathcal{M}_m$  be the field of all meromorphic functions on  $\Delta(R)$ . Denote by  $\mathcal{R}_{\{a_i\}_{i=1}^q} \subset \mathcal{M}_m$  the smallest subfield which contains  $\mathbb{C}$  and all  $\frac{a_{ik}}{a_{il}}$  with  $a_{il} \not\equiv 0$  (for brevity we will write  $\mathcal{R}$  if there is no confusion).

Let  $f : \Delta(R) \rightarrow \mathbb{P}^n(\mathbb{C})$  be a holomorphic map with a reduced representation  $(f_0 : \dots : f_n)$ , where  $f_0, \dots, f_n$  are holomorphic functions on  $\Delta(R)$  without common zeros. Then  $\text{rank}_{\mathcal{R}}(f)$  is defined as the rank of the set  $\{f_0, \dots, f_n\}$  over the field  $\mathcal{R}$ . According to M. Ru-N. Sibony [14], the growth index of  $f$  is defined by

$$c_f = \inf \left\{ c > 0 \mid \int_0^R \exp(cT_f(r)) dr = +\infty \right\}.$$

For convenient, we will set  $c_f = +\infty$  if  $\left\{c > 0 \mid \int_0^R \exp(cT_f(r))dr = +\infty\right\} = \emptyset$ .

In [8] and [9], S. D. Quang proved the second main theorems for holomorphic maps from disks with moving hyperplanes as well as moving hypersurfaces. We state here the second main theorems with moving hyperplanes.

**Theorem A** (see [8, Theorems 1.1]) *Let  $f : \Delta(R) \rightarrow \mathbb{P}^n(\mathbb{C})$  ( $0 < R \leq +\infty$ ) be a holomorphic map. Let  $\{a_i\}_{i=1}^q$  ( $q \geq 2n - k + 2$ ) be holomorphic maps of  $\Delta(R)$  into  $\mathbb{P}^n(\mathbb{C})^*$  in general position such that  $(f, a_i) \neq 0$  ( $1 \leq i \leq q$ ), where  $k + 1 = \text{rank}_{\mathcal{R}}(f)$ . Let  $\gamma(r)$  be a non-negative measurable function defined on  $(0, R)$  with  $\int_0^R \gamma(r)dr = \infty$ . Then, for every  $\varepsilon > 0$ , the following assertions hold:*

$$(a) \quad \left\|_E T_f(r) \leq \frac{n+2}{q-(n-k)} \sum_{i=1}^q N_{(f,a_i)}^{[k]}(r) + \delta(n,k)((1+\varepsilon)\log\gamma(r) + \varepsilon\log r) + S(r),\right.$$

$$(b) \quad \left\|_E T_f(r) \leq \frac{k(k+2)}{q-2(n-k)} \sum_{i=1}^q N_{(f,a_i)}^{[1]}(r) + \delta(n,k)((1+\varepsilon)\log\gamma(r) + \varepsilon\log r) + S(r),\right.$$

where  $S(r) = O(\log T_f(r) + \max_{1 \leq i \leq q} T_{a_i}(r))$  and  $\delta(n, k) = \frac{k(k+2)(n+1)}{2(n+2)}$ .

If we assume further that  $q > (n-k)(k+1) + n + 2$  then

$$(c) \quad \left\|_E T_f(r) \leq \frac{k+2}{q} \sum_{i=1}^q N_{(f,a_i)}^{[k]}(r) + \frac{k(k+1)}{2}((1+\varepsilon)\log\gamma(r) + \varepsilon\log r) + S(r).$$

Here the notation  $\left\|_E$  means the inequality holds for all  $r \in (0, R)$  outside a subset  $E$  with  $\int_E \gamma(r)dr < +\infty$ .

In 2016, S. D. Quang [6] first gave the second main theorem with weighted counting functions and thanks to this result, he can study the algebraic problem to the more general case. Our first purpose of this paper is to prove some weighted second main theorems and then apply them to prove the algebraic theorems for the holomorphic maps with finite growth index from disks into  $\mathbb{P}^n(\mathbb{C})$ .

Theorem 1 and Theorem 2 stated below are our generalizations of Theorem A(b) and Theorem A(c) respectively to the case of weighted ones.

**Theorem 1.** *Let  $f : \Delta(R) \rightarrow \mathbb{P}^n(\mathbb{C})$  ( $0 < R \leq +\infty$ ) be a holomorphic map. Let  $\{a_i\}_{i=1}^q$  ( $q \geq 2n - k + 2$ ) be holomorphic maps of  $\Delta(R)$  into  $\mathbb{P}^n(\mathbb{C})^*$  in general position such that  $(f, a_i) \neq 0$  ( $1 \leq i \leq q$ ), where  $k + 1 = \text{rank}_{\mathcal{R}}(f)$ . Let  $\gamma(r)$  be a non-negative measurable function defined on  $(0, R)$  with  $\int_0^R \gamma(r)dr = \infty$ . Let  $\lambda_1, \dots, \lambda_q$  be  $q$  positive numbers with  $2(n-k)\max_{1 \leq i \leq q} \lambda_i \leq \sum_{i=1}^q \lambda_i$ . Then for every positive number  $\eta$  satisfying  $\eta \geq \max_{1 \leq i \leq q} \lambda_i$ ,  $2(n-k)\eta \leq \sum_{i=1}^q \lambda_i$ , and for every  $\varepsilon > 0$ , the following assertion holds:*

$$\left\|_E \frac{\sum_{i=1}^q \lambda_i - 2(n-k)\eta}{k(k+2)} T_f(r) \leq \sum_{i=1}^q \lambda_i N_{(f,a_i)}^{[1]}(r) + \frac{k(k+2)(n+1)(\sum_{i=1}^q \lambda_i - (n-k)\eta)}{2(n+2)}((1+\varepsilon)\log\gamma(r) + \varepsilon\log r) + S(r),\right.$$

where  $S(r) = O(\log T_f(r) + \max_{1 \leq i \leq q} T_{a_i}(r))$ .

**Theorem 2.** Let  $f : \Delta(R) \rightarrow \mathbb{P}^n(\mathbb{C})$  ( $0 < R \leq +\infty$ ) be a holomorphic map. Let  $\{a_i\}_{i=1}^q$  ( $q > (n - k + 1)(k + 2)$ ) be holomorphic maps of  $\Delta(R)$  into  $\mathbb{P}^n(\mathbb{C})^*$  in general position such that  $(f, a_i) \neq 0$  ( $1 \leq i \leq q$ ), where  $k + 1 = \text{rank}_{\mathcal{R}}(f)$ . Let  $\gamma(r)$  be a non-negative measurable function defined on  $(0, R)$  with  $\int_0^R \gamma(r)dr = \infty$ . Let  $\lambda_1, \dots, \lambda_q$  be  $q$  positive numbers with  $(n - k + 1)(k + 2) \max_{1 \leq i \leq q} \lambda_i \leq \sum_{i=1}^q \lambda_i$ . Then for every  $\varepsilon > 0$ , we have

$$\|_E \frac{\sum_{i=1}^q \lambda_i}{k + 2} T_f(r) \leq \sum_{i=1}^q \lambda_i N_{(f, a_i)}^{[k]}(r) + \frac{k(k + 1) \sum_{i=1}^q \lambda_i}{2(k + 2)} ((1 + \varepsilon) \log \gamma(r) + \varepsilon \log r) + S(r),$$

where  $S(r) = O(\log T_f(r) + \max_{1 \leq i \leq q} T_{a_i}(r))$ .

**Remark.** In case  $f$  has finite growth index (i.e.,  $c_f < +\infty$ ), then in Theorem 1 and Theorem 2, we may take  $\gamma(r) = \exp((c_f + \varepsilon)T_f(r))$ .

As applications of Theorem 1 and Theorem 2, in the next section we will prove algebraic dependence theorems for holomorphic maps from disks sharing moving hyperplanes, where all zeros with multiplicities more than a certain number are omitted. To state our results, we need the following.

In this paper, we call each holomorphic map from  $\Delta(R)$  into  $\mathbb{P}^n(\mathbb{C})^*$  a moving hyperplane in  $\mathbb{P}^n(\mathbb{C})$ . A moving hyperplane  $a$  in  $\mathbb{P}^n(\mathbb{C})$  is said to be slow with respect to a set  $\{f^1, \dots, f^M\}$  of finite growth index holomorphic maps from  $\Delta(R)$  into  $\mathbb{P}^n(\mathbb{C})$  if

$$\|_E T_a(r) = o\left(\sum_{i=1}^M T_{f_i}(r)\right),$$

where  $E$  is a subset of  $(0, R)$  with  $\int_E e^{(\min_{1 \leq j \leq M} c_{f_j} + \varepsilon)(\sum_{i=1}^M T_{f_i}(r))} dr < +\infty$  for some  $\varepsilon > 0$  and  $\int_E dr < +\infty$  if  $R = +\infty$ .

Let  $f_i : \Delta(R) \rightarrow \mathbb{P}^n(\mathbb{C})$  ( $1 \leq i \leq \lambda$ ) be holomorphic maps with reduced representations  $f_i := (f_{i0} : \dots : f_{in})$ . Let  $a_i : \Delta(R) \rightarrow \mathbb{P}^n(\mathbb{C})^*$  ( $1 \leq i \leq q$ ) be slowly moving hyperplanes in general position with reduced representations  $a_i := (a_{i0} : \dots : a_{in})$ . Suppose that  $(f_t, a_i) := \sum_{j=0}^n f_{tj} a_{ij} \neq 0$  for each  $1 \leq t \leq \lambda$ ,  $1 \leq i \leq q$  and  $(f_1, a_i)^{-1}\{0\} = \dots = (f_\lambda, a_i)^{-1}\{0\}$ . We put  $A_i = (f_1, a_i)^{-1}\{0\}$ .

Denote by  $T[n + 1, q]$  the set of all injective maps from  $\{1, \dots, n + 1\}$  to  $\{1, \dots, q\}$ . For each  $z \in \Delta(R) \setminus \cup_{\beta \in T[n+1, q]} \{z \mid a_{\beta(1)}(z) \wedge \dots \wedge a_{\beta(n+1)}(z) = 0\}$ , we define  $\rho(z) = \#\{j \mid z \in A_j\}$ . Similarly as [6], we can show that  $\rho(z) \leq n$ .

For any positive number  $r > 0$ , define  $\rho(r) = \sup\{\rho(z) \mid |z| \geq r\}$ , where the supremum is taken over all  $z \in \Delta(R) \setminus \cup_{\beta \in T[n+1, q]} \{z \mid g_{\beta(1)}(z) \wedge \dots \wedge g_{\beta(n+1)}(z) = 0\}$ . Then  $\rho(r)$  is a decreasing function. Let  $d := \lim_{r \rightarrow +\infty} \rho(r)$  then  $d \leq n$ .

In 2001, M. Ru [12] gave an algebraic dependence theorem for meromorphic maps sharing several moving hyperplanes. After that, the result of Ru has been generalized by many authors. As we stated above, by giving the weighted second main theorem (Theorem 1.2, [6]), S. D. Quang could deal with algebraic dependence problems in case the number  $l$  depending on the moving hyperplanes. It means that for each  $j$ , we suppose that there exists a positive number  $l_j$  such that  $f_{i_1} \wedge \dots \wedge f_{i_{l_j}} = 0$  on  $A_j$  for any  $l_j$  maps.

On the other hand, in 2017, L. N. Quynh [10] proposed a new technique, by which she studied the algebraic dependence of meromorphic maps sharing different family of moving

hyperplanes regardless of multiplicities and obtained the results which are better than previous ones. Then, based on Quynh's technique, P. D. Thoan, N. H. Nam and N. V. An [22] and H. Cao and L. Duan [1] consider the case where the number  $l$  in Quynh's theorem may vary dependently on the moving hyperplanes like Quang's.

In Theorem 3 and 4 as follows, we will prove the similar results as in [1] for the case of holomorphic maps from disks with finite growth index. In concrete, we will prove algebraic dependence theorems for holomorphic maps from disks sharing moving hyperplanes, where all zeros with multiplicities more than a certain number are omitted and the number  $l$  depending on the moving hyperplanes.

Our theorems are stated as follows.

**Theorem 3.** *Let  $f_1, \dots, f_\lambda : \Delta(R) \rightarrow \mathbb{P}^n(\mathbb{C})$  be holomorphic maps with  $c_{f_i} < +\infty$  ( $i = 1, \dots, \lambda$ ). Let  $\{a_i\}_{i=1}^q$  be slowly (with respect to  $\{f_1, \dots, f_\lambda\}$ ) moving hyperplanes in  $\mathbb{P}^n(\mathbb{C})$  in general position. Let  $k_j$  ( $1 \leq j \leq q$ ) be positive integers or  $+\infty$ . Suppose that  $(f_i, a_j) \not\equiv 0$  and the following conditions hold*

- i.  $\text{Supp } \nu_{(f_1, a_j), \leq k_j}^0 = \dots = \text{Supp } \nu_{(f_\lambda, a_j), \leq k_j}^0$  for each  $1 \leq j \leq q$ .*
- ii. Let  $l_1, \dots, l_q$  be  $q$  positive integers with  $2 \leq l_i \leq \lambda$  such that for any  $1 \leq i_1 < \dots < i_{l_j} < q$ ,  $f_{i_1}(z) \wedge \dots \wedge f_{i_{l_j}}(z) = 0$  for each  $z \in \cup_{j=1}^q \text{Supp } \nu_{(f_1, a_j), \leq k_j}^0$ .*

If  $k + 1 = \max_{1 \leq t \leq \lambda} \{\text{rank}_{\mathcal{R}}(f_t)\}$  and

$$\sum_{j=1}^q \frac{1}{k_j} < \frac{q(\lambda + 1) - \sum_{j=1}^q l_j - 2(n - k)(\lambda - 1) - d\lambda k(k + 2)}{k(k + 2)(\lambda - 1)} - \frac{\lambda k(k + 2)(n + 1)(q(\lambda + 1) - \sum_{j=1}^q l_j)}{4(n + 2)(\lambda - 1)} \min_{1 \leq i \leq \lambda} c_{f_i}.$$

then  $f_1, \dots, f_\lambda$  are algebraically dependent over  $\mathbb{C}$ , i.e.  $f_i \wedge \dots \wedge f_\lambda \equiv 0$  on  $\Delta(R)$ .

**Remark.**

1. When  $R = +\infty$  and  $f_i$  is not constant, then  $c_{f_i} = 0$ , the theorem implies the result obtained in the Theorem 1.3 in [1].
2. Letting  $\lambda = l_j = 2, d = 1$  and  $k_j = +\infty$ , we deduce the uniqueness theorem:  
If  $q > \frac{2(n + 2)(2k^2 + 2n + 2k)}{2(n + 2) - k^2(k + 2)^2(n + 1) \min_{1 \leq i \leq \lambda} c_{f_i}}$ , then  $f_1 = f_2$ .

When  $d = 1$  and the number of hyperplanes is large enough ( $q > (n - k)(k + 1) + n + 2$ ), we will obtain the following algebraic dependence theorem.

**Theorem 4.** *Let  $f_1, \dots, f_\lambda : \Delta(R) \rightarrow \mathbb{P}^n(\mathbb{C})$  be holomorphic maps with  $c_{f_i} < +\infty$  ( $i = 1, \dots, \lambda$ ). Let  $\{a_i\}_{i=1}^q$  be slowly (with respect to  $\{f_1, \dots, f_\lambda\}$ ) moving hyperplanes in  $\mathbb{P}^n(\mathbb{C})$  in general position. Let  $k_j$  ( $1 \leq j \leq q$ ) be positive integers or  $+\infty$ . Assume that  $(f_i, a_j) \not\equiv 0$  ( $1 \leq i \leq \lambda, 1 \leq j \leq q$ ) and the following conditions are satisfied.*

- i.  $(f^1, a_i)^{-1} \{0\} \cap (f^1, a_j)^{-1} \{0\} = \emptyset$  ( $1 \leq i < j \leq q$ ),*

$$ii. \min \left\{ 1, \nu_{(f_1, a_j), \leq k_j}^0 \right\} = \dots = \min \left\{ 1, \nu_{(f_\lambda, a_j), \leq k_j}^0 \right\} \text{ for each } 1 \leq j \leq q.$$

iii. Let  $l_1, \dots, l_q$  be  $q$  positive integers with  $2 \leq l_i \leq \lambda$ , such that for any increasing sequence  $1 \leq i_1 < \dots < i_{l_j} \leq \lambda, f_{i_1}(z) \wedge \dots \wedge f_{i_{l_j}}(z) = 0, z \in \cup_{j=1}^q \text{Supp } \nu_{(f_1, a_j), \leq k_j}^0$ .

Put  $\max \{ \text{rank}_{\mathcal{R}}(f_i), 1 \leq i \leq \lambda \} = k + 1$ , where  $k$  is a positive integer. In addition, we suppose that  $q \geq (n - k + 1)(k + 2)(\lambda - 1)$  for  $k \leq \frac{n-1}{2}$ , or  $q \geq \frac{(n+3)^2}{4}(\lambda - 1)$  for  $k > \frac{n-1}{2}$ . If

$$\sum_{j=1}^q \frac{1}{k_j + 1 - k} < \frac{1}{k(k + 2)} - \frac{\lambda}{q(\lambda + 1) - \sum_{j=1}^q l_j + \lambda(k - 1)} - \frac{k + 1}{2(k + 2)} \min_{1 \leq i \leq \lambda} c_{f_i}$$

then  $f_1, \dots, f_\lambda$  are algebraically dependent over  $\mathbb{C}$ .

**Remark.**

1. When  $\text{rank}_{\mathcal{R}}(f_i) = k + 1$  and  $k_j = +\infty (1 \leq i \leq \lambda, 1 \leq j \leq q)$ , we see that the above inequality becomes

$$q \geq \max \left\{ (n - k + 1)(k + 2)(\lambda - 1), \frac{1}{\lambda + 1} \left( \sum_{j=1}^q l_j - \lambda(k - 1) + \frac{2\lambda k(k + 2)}{2 - k(k + 1)} \min_{1 \leq i \leq \lambda} c_{f_i} \right) \right\}.$$

Further, when  $R = +\infty$  and  $f_i$  is not constant, then  $c_{f_i} = 0$ , we deduce the result given in the Theorem 1.4 in [1].

2. Let  $\lambda = l = 2$  when  $k_j = +\infty$ , if  $\text{rank}_{\mathcal{R}}(f_1) = \text{rank}_{\mathcal{R}}(f_2) = k + 1$  and

$$q > \max \left\{ (n - k + 1)(k + 2), \frac{4k(k + 2)}{2 - k(k + 1)} \min_{i=1,2} c_{f_i} - 2(k - 1) \right\}$$

then  $f_1 = f_2$ .

We note that this statement is the result obtained in the uniqueness theorem (Theorem 1.3) in [8].

## 2 Basic notions and auxiliary results from Nevanlinna theory

We denote by  $\Delta(R)$  a disk in  $\mathbb{C}, \Delta(R) := \{z \in \mathbb{C}; |z| < R\}, (0 < R \leq +\infty)$ . Let  $\nu$  be a divisor on  $\Delta(R)$ . We consider  $\nu$  as a function on  $\Delta(R)$  with values in  $\mathbb{Z}$  such that  $\text{Supp}(\nu) := \{z; \nu(z) \neq 0\}$  is a discrete subset of  $\Delta(R)$ . Let  $k$  be a positive integer or  $+\infty$ . The truncated counting function of  $\nu$  is defined by:

$$n^{[k]}(t) = \sum_{|z| \leq t} \min\{k, \nu(z)\} \quad (0 \leq t \leq R) \text{ and } N^{[k]}(r, \nu) = \int_{r_0}^r \frac{n^{[k]}(t) - n^{[k]}(0)}{t} dt.$$

We will omit the character  $^{[k]}$  if  $k = +\infty$ .

Let  $\varphi : \Delta(R) \rightarrow \mathbb{C} \cup \{\infty\}$  be a non-constant meromorphic function. We denote by  $\nu_\varphi^0$  (resp.  $\nu_\varphi^\infty$ ) the divisor of zeros (resp. divisor of poles) of  $\varphi$  and set  $\nu_\varphi = \nu_\varphi^0 - \nu_\varphi^\infty$ . As usual, we will write  $N_\varphi^{[k]}(r)$  and  $N_{1/\varphi}^{[k]}(r)$  for  $N^{[k]}(r, \nu_\varphi^0)$  and  $N^{[k]}(r, \nu_\varphi^\infty)$  respectively. The proximity function of  $\varphi$  with respect to the point  $\infty$  is defined by

$$m(r, \varphi) = \int_0^{2\pi} \log^+ |\varphi(re^{t\theta})| d\theta.$$

We consider  $\varphi$  as a holomorphic map into  $\mathbb{P}^1(\mathbb{C})$  and denote by  $\Omega_1$  the Fubini-Study form on  $\mathbb{P}^1(\mathbb{C})$ . The characteristic function of  $\varphi$  is defined by

$$T_\varphi(r) = \int_0^r \frac{dt}{t} \int_{|z|<t} \varphi^* \Omega_1.$$

By Jensen's formula, we have

$$T_\varphi(r) = m(r, \varphi) + N_{1/\varphi}(r) + O(1).$$

Let  $f : \Delta(R) \rightarrow \mathbb{P}^n(\mathbb{C})$  be a holomorphic map with a reduced representation  $(f_0 : \dots : f_n)$ , where  $f_0, \dots, f_n$  are holomorphic functions on  $\Delta(R)$  without common zeros. Let  $H$  be a hyperplane in  $\mathbb{P}^n(\mathbb{C})$  defined by  $H := \{(\omega_0 : \dots : \omega_n); \sum_{i=0}^n a_i \omega_i = 0\}$ , where  $a_i$  ( $0 \leq i \leq n$ ) are constants, not all zero. We define

$$(f, H) = \sum_{i=0}^n a_i f_i.$$

The function  $(f, H)$  depends on the choices of the reduced representation of  $f$  and the presentation of  $H$ , but the divisor  $\nu_{(f, H)}$  is well-defined, not depending on these choices. The proximity function of  $f$  with respect to  $H$  is defined by

$$m_f(r, H) = \int_0^{2\pi} \log \frac{\|f\|(re^{t\theta}) \cdot \|H\|}{|(f, H)(re^{t\theta})|} d\theta,$$

where  $\|f\| = (|f_0|^2 + \dots + |f_n|^2)^{1/2}$  and  $\|H\| = (|a_0|^2 + \dots + |a_n|^2)^{1/2}$ . The characteristic function of  $f$  (with respect to the Fubini-Study form  $\Omega_n$  on  $\mathbb{P}^n(\mathbb{C})$ ) is defined by

$$T_f(r) := \int_0^r \frac{dt}{t} \int_{|z|<t} f^* \Omega_n.$$

The first main theorem states that

$$T_f(r) = m_f(r, H) + N_{(f, H)}(r) + O(1).$$

Now we denote by  $\mu_{f_1 \wedge \dots \wedge f_\lambda}$  the divisor associated to  $f_1 \wedge \dots \wedge f_\lambda$ . According to [17], we have the first main theorem as follows.

**Theorem 5** (The first main theorem for general position [17], p. 326). *Let  $f_i : \mathbb{C}^m \rightarrow \mathbb{P}^n(\mathbb{C})$ ,  $1 \leq i \leq k$  be meromorphic maps located in general position. Assume that  $1 \leq k \leq n$ . Then*

$$N_{\mu_{f_1 \wedge \dots \wedge f_\lambda}}(r) + m(r, f_1 \wedge \dots \wedge f_\lambda) \leq \sum_{1 \leq i \leq \lambda} T_{f_i}(r) + O(1).$$

### 3 Proofs of the weighted second main theorems

#### Proof of Theorem 1

In order to show that the theorem holds, we need the following lemma which is a claim obtained in the proof of Theorem 1.1 in [8].

**Lemma 6** ([8], Equation 2.10). *With the same assumption of  $f, \{a_i\} (i = 1, \dots, q)$  and  $\gamma(r)$  as in Theorem 1, for every  $\varepsilon > 0$ , there exist a subset  $J \subset \{1, \dots, 2n - k + 2\}$  with  $|J| = d + 2 (\leq n + 2)$  and a positive integer  $n_0 \leq \frac{k(k + 2)}{d + 2}$  such that*

$$\|_E T_f(r) \leq \sum_{j \in J} N_{(f, a_j)}^{[n_0]}(r) + \frac{n_0(\#J - 1)}{2} ((1 + \varepsilon) \log \gamma(r) + \varepsilon \log r) + S(r),$$

where  $S(r) = O(\log T_f(r) + \max_{1 \leq i \leq q} T_{a_i}(r))$ .

We denote by  $\mathcal{I}$  the set of all permutations of the set  $\{1, \dots, q\}$ . For each element  $I = (i_1, \dots, i_q) \in \mathcal{I}$ , we set

$$M_I = \{r \in (0, R) \mid N_{(f, a_{i_1})}^{[1]}(r) \leq \dots \leq N_{(f, a_{i_q})}^{[1]}(r)\}.$$

We now consider an element  $I = (i_1, \dots, i_q)$  of  $\mathcal{I}$ , for instance  $I = (1, 2, \dots, q)$ . Applying Lemma 6, there is a subset  $J \subset \{1, 2, \dots, 2n - k + 2\}$  with  $|J| = d + 2$  such that

$$\|_E T_f(r) \leq \sum_{j \in J} N_{(f, a_j)}^{[n_0]}(r) + \frac{n_0(\#J - 1)}{2} ((1 + \varepsilon) \log \gamma(r) + \varepsilon \log r) + S(r).$$

Put  $J' = \{1, 2, \dots, 2n - k + 2\} \setminus J$  and  $J'' = \{1, 2, \dots, q\} \setminus \{1, 2, \dots, 2n - k + 2\}$ . We see that  $|J'| = 2n - k - d$  and  $J \cup J' \cup J'' = \{1, 2, \dots, q\}$ .

Now we take  $\eta \in \left[ \max_{1 \leq i \leq q} \lambda_i, \frac{\sum_{i=1}^q \lambda_i}{2(n - k)} \right]$ . Because

$$\sum_{i=1}^q \lambda_i - |J'| \eta = \sum_{i=1}^q \lambda_i - (2n - k + 2 - (d + 2)) \eta$$

and  $k \leq d \leq n$ , then we find that

$$0 < \sum_{i=1}^q \lambda_i - 2(n - k) \eta \leq \sum_{i=1}^q \lambda_i - |J'| \eta \leq \sum_{i=1}^q \lambda_i - (n - k) \eta. \tag{7}$$

This implies that

$$\begin{aligned} \|_E \left( \sum_{i=1}^q \lambda_i - |J'| \eta \right) T_f(r) &\leq \left( \sum_{i=1}^q \lambda_i - |J'| \eta \right) \left( \sum_{j \in J} N_{(f, a_{i_j})}^{[n_0]}(r) \right) \\ &\quad + \frac{n_0(\#J - 1) \left( \sum_{i=1}^q \lambda_i - |J'| \eta \right)}{2} ((1 + \varepsilon) \log \gamma(r) + \varepsilon \log r) + S(r). \end{aligned}$$

On the other hand, since  $\sum_{j \in J'} \lambda_{i_j} - |J'| \eta \leq 0$ , we deduce that

$$\begin{aligned} & \left( \sum_{i=1}^q \lambda_i - |J'| \eta \right) \sum_{t \in J} N_{(f, a_{i_t})}^{[n_0]}(r) \\ &= \left( \sum_{j \in J \cup J''} \lambda_{i_j} \right) \sum_{t \in J} N_{(f, a_{i_t})}^{[n_0]}(r) + \left( \sum_{j \in J'} \lambda_{i_j} - |J'| \eta \right) \sum_{t \in J} N_{(f, a_{i_t})}^{[n_0]}(r) \\ &\leq \left( \sum_{j \in J \cup J''} \lambda_{i_j} \right) \sum_{t \in J} N_{(f, a_{i_t})}^{[n_0]}(r). \end{aligned}$$

In other words, we have the following estimations

$$\begin{aligned} & \left( \sum_{j \in J \cup J''} \lambda_{i_j} \right) \sum_{t \in J} N_{(f, a_{i_t})}^{[n_0]}(r) = |J| \frac{\sum_{j \in J \cup J''} \lambda_{i_j}}{|J|} \sum_{j \in J} \lambda_{i_j} N_{(f, a_{i_j})}^{[n_0]}(r) \\ &= |J| \left( \sum_{t \in J} \lambda_{i_t} N_{(f, a_{i_t})}^{[n_0]}(r) + \sum_{t \in J} \left( \frac{\sum_{j \in J \cup J''} \lambda_{i_j}}{|J|} - \lambda_{i_t} \right) N_{(f, a_{i_t})}^{[n_0]}(r) \right) \\ &\leq |J| \left( \sum_{t \in J} \lambda_{i_t} N_{(f, a_{i_t})}^{[n_0]}(r) + \left( \sum_{t \in J} \left( \frac{\sum_{j \in J \cup J''} \lambda_{i_j}}{|J|} - \lambda_{i_t} \right) \right) N_{(f, a_{i_{2n-k+3}})}^{[n_0]}(r) \right) \\ &= |J| \left( \sum_{t \in J} \lambda_{i_t} N_{(f, a_{i_t})}^{[n_0]}(r) + \sum_{t \in J''} \lambda_{i_t} N_{(f, a_{i_{2n-k+3}})}^{[n_0]}(r) \right) \\ &\leq |J| \left( \sum_{t \in J} \lambda_{i_j} N_{(f, a_{i_j})}^{[n_0]}(r) + \sum_{t \in J''} \lambda_{i_t} N_{(f, a_{i_t})}^{[n_0]}(r) \right) \\ &\leq |J| \sum_{j=1}^q \lambda_{i_j} N_{(f, a_{i_j})}^{[n_0]}(r) \\ &\leq |J| n_0 \sum_{j=1}^q \lambda_{i_j} N_{(f, a_{i_j})}^{[1]}(r) \\ &\leq \frac{k(k+1)(d+2)}{d+2} \sum_{j=1}^q \lambda_{i_j} N_{(f, a_{i_j})}^{[1]}(r) \\ &\leq k(k+1) \sum_{j=1}^q \lambda_{i_j} N_{(f, a_{i_j})}^{[1]}(r). \end{aligned}$$

For  $r \in M_I$ , from these above estimations, we get

$$\begin{aligned} \left\|_E \left( \sum_{i=1}^q \lambda_i - |J'| \eta \right) T_f(r) \right\| &\leq k(k+1) \sum_{i=1}^q \lambda_i N_{(f, a_i)}^{[1]}(r) \\ &\quad + \frac{n_0(\#J-1)(\sum_{i=1}^q \lambda_i - |J'| \eta)}{2} ((1+\varepsilon) \log \gamma(r) + \varepsilon \log r) + S(r). \end{aligned} \tag{8}$$



In addition, we have

$$\frac{n_0(\#J - 1)}{2} \leq \frac{k(k + 2)(d + 1)}{2(d + 2)} \leq \frac{k(k + 2)(n + 1)}{2(n + 2)}. \tag{9}$$

Combining (7), (9) and (8), we obtain

$$\begin{aligned} \parallel_E \frac{\sum_{i=1}^q \lambda_i - 2(n - k)\eta}{k(k + 2)} T_f(r) &\leq \sum_{i=1}^q \lambda_i N_{(f, a_i)}^{[1]}(r) \\ &+ \frac{k(k + 2)(n + 1)(\sum_{i=1}^q \lambda_i - (n - k)\eta)}{2(n + 2)} ((1 + \varepsilon) \log \gamma(r) + \varepsilon \log r) + S(r). \end{aligned} \tag{10}$$

We see that  $\bigcup_{I \in \mathcal{I}} N_I = (0, R)$  and inequality (10) holds for every  $r \in (0, R)$  outside a subset  $E$  with  $\int_E \gamma(r) dr < +\infty$ . Hence, the theorem is proved.

### Proof of Theorem 2

The theorem will be proved based on the following lemma which is also a result given in the proof of Theorem 1.1.c in [8].

**Lemma 11** ([8], Claim in the proof of Theorem 1.1.c). *Let  $f$ ,  $\{a_i\}$  and  $\gamma(r)$  be the same as in Theorem 2. Then for every  $\varepsilon > 0$ , we have*

$$\parallel_E T_f(r) \leq \sum_{j=0}^{k+1} N_{(f, a_{i_j})}^{[k]}(r) + \frac{k(k + 1)}{2} ((1 + \varepsilon) \log \gamma(r) + \varepsilon \log r) + S(r),$$

where  $S(r) = O(\log T_f(r) + \max_{1 \leq i \leq q} T_{a_i}(r))$ .

We denote by  $\mathcal{I}$  the set of all permutations of the set  $\{1, \dots, q\}$ . For each element  $I = (i_1, \dots, i_q) \in \mathcal{I}$ , we set

$$N_I = \{r \in (0, R) \mid N_{(f, a_{i_1})}^{[k]}(r) \leq \dots \leq N_{(f, a_{i_q})}^{[k]}(r)\}.$$

For all  $r \in N_I$ , we see that

$$\begin{aligned} \sum_{j=0}^{k+1} N_{(f, a_{i_j})}^{[k]}(r) &\leq N_{(f, a_{i_1})}^{[k]}(r) + \sum_{i=n-k+2}^{n+1} N_{(f, a_i)}^{[k]}(r) + N_{(f, a_{(n-k+1)(k+1)+1})}^{[k]}(r) \\ &\leq \frac{1}{n - k + 1} \left( \sum_{i=1}^{n-k+1} N_{(f, a_i)}^{[k]}(r) + \sum_{i=n-k+2}^{(n-k+1)(k+1)} N_{(f, a_i)}^{[k]}(r) + \sum_{i=(n-k+1)(k+1)+1}^{(n-k+1)(k+2)} N_{(f, a_i)}^{[k]}(r) \right) \\ &= \frac{1}{n - k + 1} \sum_{j=1}^{(n-k+1)(k+2)} N_{(f, a_i)}^{[k]}(r). \end{aligned}$$

This follows that

$$\begin{aligned}
& \left( \sum_{i=1}^q \lambda_i \right) \sum_{j=0}^{k+1} N_{(f, a_{i_j})}^{[k]}(r) \leq \frac{\sum_{i=1}^q \lambda_i}{n-k+1} \sum_{j=1}^{(n-k+1)(k+2)} N_{(f, a_i)}^{[k]}(r) \\
& = \frac{(n-k+1)(k+2)}{n-k+1} \sum_{j=1}^{(n-k+1)(k+2)} \left( \frac{\sum_{i=1}^q \lambda_i}{(n-k+1)(k+2)} N_{(f, a_i)}^{[k]}(r) \right) \\
& \leq (k+2) \left( \sum_{j=1}^{(n-k+1)(k+2)} \lambda_{i_j} N_{(f, a_{i_j})}^{[k]}(r) \right) \\
& + (k+2) \sum_{j=1}^{(n-k+1)(k+2)} \left( \frac{\sum_{i=1}^q \lambda_i}{(n-k+1)(k+2)} - \lambda_{i_j} \right) N_{(f, a_i)}^{[k]}(r) \\
& = (k+2) \sum_{i=1}^q \lambda_i N_{(f, a_i)}^{[k]}(r).
\end{aligned}$$

Combining Lemma 11 together with these above estimations, we have

$$\|_E \frac{\sum_{i=1}^q \lambda_i}{k+2} T_f(r) \leq \sum_{i=1}^q \lambda_i N_{(f, a_i)}^{[k]}(r) + \frac{k(k+1) \sum_{i=1}^q \lambda_i}{2(k+2)} ((1+\varepsilon) \log \gamma(r) + \varepsilon \log r) + S(r),$$

for all  $r \in N_I$ .

Repeating again the argument in the proof of Theorem 1, we have the desired conclusion in Theorem 2.

## 4 Proofs of algebraic dependence theorems

The following lemmas and claims obtained in [10] and [6] for the case of meromorphic maps from  $\mathbb{C}^m$  into  $\mathbb{P}^n(\mathbb{C})$ . With the same arguments in these proofs, we can show that they also true for holomorphic maps from  $\Delta(R)$  into  $\mathbb{P}^n(\mathbb{C})$  in our situation. Therefore, here we just state results without presenting proofs. We also note that, in the case of  $R = +\infty$ , the Theorem 3 and 4 have already been proved in [1]. Then in the following proofs, we only consider the case where  $R < +\infty$ .

### Proof of Theorem 3

**Lemma 12** ([10], Claim 3.1). *For every  $1 \leq i \leq \lambda, 1 \leq j \leq q$  and  $1 \leq k \leq n$ , we have*

$$N_{(f, a_j), \leq k_j}^{[k]}(r) \geq \frac{k_j + 1}{k_j + 1 - k} N_{(f, a_j)}^{[k]}(r) - \frac{k}{k_j + 1 - k} T_f(r).$$

**Lemma 13** ([6], Claim 4.2). *For every  $1 \leq t \leq \lambda$ , we have*

$$\sum_{j=1}^q (\lambda - l_j + 1) \min \{1, \nu_{(f_t, a_j)}(z)\} \leq d\mu_{f_1 \wedge \dots \wedge f_\lambda}(z) + q(\lambda - 1) \sum_{\beta} \mu_{a_{\beta(1)} \wedge \dots \wedge a_{\beta(n+1)}}(z).$$

for each  $z \notin A$ , where the sum is taken over all injective map  $\beta : \{1, 2, \dots, n + 1\} \rightarrow \{1, 2, \dots, q\}$ .

It suffices to prove the theorem in the case of  $\lambda \leq n + 1$ . Suppose that  $f_1 \wedge \dots \wedge f_\lambda \neq 0$ . Since  $\nu_{(f_i, a_j), \leq k_j}^{[1]}(z) \leq \nu_{(f_i, a_j)}^{[1]}(z)$ , then it follows from Lemma 13 that

$$\begin{aligned} \sum_{j=1}^q (\lambda - l_j + 1) N_{(f_t, a_j), \leq k_j}^{[1]}(r) &\leq \sum_{j=1}^q (\lambda - l_j + 1) N_{(f_t, a_j)}^{[1]}(r) \\ &\leq dN_{\mu_{f_1 \wedge \dots \wedge f_\lambda}}(r) + q(\lambda - 1) \sum_{\beta \in T[n+1, q]} N_{\mu_{\alpha_{\beta(1)} \wedge \dots \wedge \alpha_{\beta(n+1)}}}(r) \\ &\leq d \sum_{i=1}^\lambda T_{f_i}(r) + q(\lambda - 1) \sum_{\beta \in T[n+1, q]} \sum_{i=1}^{n+1} T_{\alpha_{\beta(i)}}(r) \\ &= d \sum_{i=1}^\lambda T_{f_i}(r) + o\left(\max_{1 \leq i \leq \lambda} T_{f_i}(r)\right). \end{aligned}$$

Using Lemma 12, we deduce that

$$\begin{aligned} d \sum_{i=1}^\lambda T_{f_i}(r) &\geq \sum_{j=1}^q (\lambda - l_j + 1) N_{(f_t, a_j), \leq k_j}^{[1]}(r) + o\left(\max_{1 \leq i \leq \lambda} T_{f_i}(r)\right) \\ &\geq \sum_{j=1}^q (\lambda - l_j + 1) \left(\frac{k_j + 1}{k_j} N_{(f_t, a_j)}^{[1]}(r) - \frac{1}{k_j} T_{f_i}(r)\right) + o\left(\max_{1 \leq i \leq \lambda} T_{f_i}(r)\right) \\ &\geq \sum_{j=1}^q (\lambda - l_j + 1) N_{(f_t, a_j)}^{[1]}(r) - \sum_{j=1}^q \frac{\lambda - l_j + 1}{k_j} T_{f_i}(r) + o\left(\max_{1 \leq i \leq \lambda} T_{f_i}(r)\right). \end{aligned}$$

Hence, by summing up both sides of these inequalities, we get

$$d\lambda \sum_{i=1}^\lambda T_{f_i}(r) + \sum_{j=1}^q \sum_{i=1}^\lambda \frac{\lambda - l_j + 1}{k_j} T_{f_i}(r) \geq \sum_{j=1}^q \sum_{i=1}^\lambda (\lambda - l_j + 1) N_{(f_t, a_j)}^{[1]}(r) + o\left(\max_{1 \leq i \leq \lambda} T_{f_i}(r)\right).$$

Put  $\lambda_i = \lambda - l_i + 1, i = 1, \dots, q, k_t + 1 = \text{rank}_{\mathcal{R}\{a_i\}}(f_t), t = 1, \dots, \lambda$  and  $k = \max_{1 \leq t \leq \lambda} k_t$ . We can easily see that

$$2(n - k_t) \max_{1 \leq j \leq q} (\lambda - l_j + 1) \leq 2n(\lambda - 1) \leq q \leq \sum_{j=1}^q (\lambda - l_j + 1).$$

This follows that

$$2(n - k) \max \lambda_i \leq \sum_{j=1}^q \lambda_i.$$

From Theorem 1, for any  $\eta \in [\max_{1 \leq i \leq q} \lambda_i, \frac{\sum_{i=1}^q \lambda_i}{2(n-k)}]$ , we have

$$\|_E \frac{q(\lambda+1) - \sum_{j=1}^q l_j - 2(n-k_t)\eta}{k_t(k_t+2)} T_{f_t}(r) \leq \sum_{j=1}^q (\lambda - l_j + 1) N^{[1]}(r, \nu_{(f_t, a_j)}) + \delta(k_t)((1+\varepsilon)\log(\gamma_t) + \varepsilon \log r) + S(r),$$

where  $\delta(k_t) = \frac{k_t(k_t+2)(n+1)(\sum_{i=1}^q \lambda_i - (n-k_t)\eta)}{2(n+2)}$ .

On the other hand,

$$\frac{q(\lambda+1) - \sum_{j=1}^q l_j - 2n\eta + 2k\eta}{k(k+2)} \leq \frac{q(\lambda+1) - \sum_{j=1}^q l_j - 2n\eta + 2k_t\eta}{k_t(k_t+2)}$$

and

$$\frac{k_t(k_t+2)(n+1)(\sum_{i=1}^q \lambda_i - (n-k_t)\eta)}{2(n+2)} \leq \frac{k(k+2)(n+1)(\sum_{i=1}^q \lambda_i - (n-k)\eta)}{2(n+2)}.$$

Moreover, we take  $\gamma_t(r) = \exp\{(\min_{1 \leq i \leq \lambda} c_{f_i} + \varepsilon) \sum_{i=1}^{\lambda} T_{f_i}(r)\}$ . Then we have

$$\begin{aligned} & \|_E \frac{q(\lambda+1) - \sum_{j=1}^q l_j - 2(n-k)\eta}{k(k+2)} \sum_{i=1}^{\lambda} T_{f_i}(r) \\ & \leq d\lambda \sum_{i=1}^{\lambda} T_{f_i}(r) + \sum_{i=1}^{\lambda} \sum_{j=1}^q \frac{\lambda - l_j + 1}{k_j} T_{f_i}(r) \\ & \quad + \lambda\delta(k)((1+\varepsilon)(\min_{1 \leq i \leq \lambda} c_{f_i} + \varepsilon) \sum_{i=1}^{\lambda} T_{f_i}(r) + \varepsilon \log r) + S(r). \end{aligned}$$

Letting  $r \rightarrow +\infty$  ( $r \notin E$ ) and letting  $\varepsilon \rightarrow 0^+$ , we get

$$\begin{aligned} \sum_{j=1}^q \frac{\lambda-1}{k_j} & \geq \sum_{j=1}^q \frac{\lambda-l_j+1}{k_j} \\ & \geq \frac{q(\lambda+1) - \sum_{j=1}^q l_j - 2(n-k)\eta}{k(k+2)} - d\lambda \\ & \quad - \frac{\lambda k(k+2)(n+1)(q(\lambda+1) - \sum_{j=1}^q l_j - (n-k)\eta)}{2(n+2)} \min_{1 \leq i \leq \lambda} c_{f_i}. \end{aligned} \tag{14}$$

In other words, we see that

$$\lambda - 1 \leq \max_{1 \leq i \leq q} \lambda_i \leq \eta \leq \frac{\sum_{j=1}^q \lambda_j}{2(n-k)} = \frac{q(\lambda+1) - \sum_{j=1}^q l_j}{2(n-k)}.$$

It follows from (14) that

$$\begin{aligned} \sum_{j=1}^q \frac{\lambda - 1}{k_j} &\geq \sum_{j=1}^q \frac{\lambda - l_j + 1}{k_j} \\ &\geq \frac{q(\lambda + 1) - \sum_{j=1}^q l_j - 2(n - k)(\lambda - 1)}{k(k + 2)} - d\lambda \\ &\quad - \frac{\lambda k(k + 2)(n + 1)(q(\lambda + 1) - \sum_{j=1}^q l_j)}{4(n + 2)} \min_{1 \leq i \leq \lambda} c_{f_i}. \end{aligned}$$

Therefore

$$\begin{aligned} \sum_{j=1}^q \frac{1}{k_j} &\geq \frac{q(\lambda + 1) - \sum_{j=1}^q l_j - 2(n - k)(\lambda - 1) - d\lambda k(k + 2)}{k(k + 2)(\lambda - 1)} \\ &\quad - \frac{\lambda k(k + 2)(n + 1)(q(\lambda + 1) - \sum_{j=1}^q l_j)}{4(n + 2)(\lambda - 1)} \min_{1 \leq i \leq \lambda} c_{f_i}. \end{aligned}$$

It is a contradiction. The proof of Theorem 1.3 is finished.

### Proof of Theorem 4

**Lemma 15** ([10], Claim 3.3). *Let  $h_i : \Delta(R) \rightarrow \mathbb{P}^n(\mathbb{C})$  ( $1 \leq i \leq p \leq n + 1$ ) be meromorphic maps with reduced representations  $h_i := (h_{i0} : \dots : h_{in})$ ,  $a_i := (a_{i0} : \dots : a_{in})$ . Put  $\tilde{h} := ((h_i, a_1) : \dots : (h_i, a_{n+1}))$ , and assume that  $a_1, \dots, a_{n+1}$  are located in general position such that  $(h_i, a_j) \neq 0$  ( $1 \leq i \leq p, 1 \leq j \leq n + 1$ ). Let  $z_0$  be a point of  $\Delta(R)$  such that  $(a_1 \wedge \dots \wedge a_{n+1})(z_0) \neq 0$ . Then  $(h_1 \wedge \dots \wedge h_p)(z_0) = 0$  if and only if  $(\tilde{h}_1 \wedge \dots \wedge \tilde{h}_p)(z_0) = 0$ .*

Now we put  $J = \{j_1, \dots, j_\lambda\}$ ,  $J^c = \{1, \dots, q\} \setminus J$  and

$$B_J = \begin{pmatrix} (f_1, a_{j_1}) & \cdots & (f_\lambda, a_{j_1}) \\ (f_1, a_{j_2}) & \cdots & (f_\lambda, a_{j_2}) \\ \vdots & \vdots & \vdots \\ (f_1, a_{j_\lambda}) & \cdots & (f_\lambda, a_{j_\lambda}) \end{pmatrix},$$

then we have the following lemma.

**Lemma 16** ([10], Claim 3.4). *If  $B_J$  is nondegenerate, i.e.,  $\det B_J \neq 0$ , then*

$$\begin{aligned} \nu_{\tilde{f}_1 \wedge \dots \wedge \tilde{f}_\lambda} &\geq \sum_{j \in J} \left( \min_{1 \leq i \leq \lambda} \left\{ \nu_{(f_i, a_j), \leq k_j}^0 \right\} - \min \left\{ 1, \nu_{(f_i, a_j), \leq k_j}^0 \right\} \right) \\ &\quad + \sum_{j=1}^q (\lambda - l_j + 1) \min \left\{ 1, \nu_{(f_i, a_j), \leq k_j}^0 \right\} \end{aligned}$$

on the set  $\Delta(R) \setminus (a_{j_1} \wedge \dots \wedge a_{j_\lambda})^{-1}(0)$ , where  $\tilde{f}_i := ((f_i, a_{j_1}) : \dots : (f_i, a_{j_\lambda}))$ .

It suffices to prove the theorem in the case of  $\lambda \leq n + 1$ . Suppose that  $f_1 \wedge \cdots \wedge f_\lambda \neq 0$ . For  $\varepsilon > 0$ , we put

$$\gamma(r) = \exp\left\{\left(\min_{1 \leq i \leq \lambda} c_{f_i} + \varepsilon\right) \sum_{i=1}^{\lambda} T_{f_i}(r)\right\}.$$

We see that  $\int_0^R \gamma(r) dr = \infty$ . For each  $j, 1 \leq j \leq q$ , we set

$$N_j(r) = \sum_{i=1}^{\lambda} N_{(f_i, a_j), \leq k_j}^{[k]}(r) - ((\lambda - 1)k + 1)N_{(f_i, a_j), \leq k_j}^{[1]}(r).$$

and for each permutation  $I = (j_1, \dots, j_q)$  of  $(1, \dots, q)$ , we also put

$$T_I = \{r \in (0, R) \mid N_{j_1}(r) \geq \cdots \geq N_{j_q}(r)\}.$$

It is clear that  $\bigcup_I T_I = (0, R)$ . Therefore, there exists a permutation, for instance, it is  $I_1 = (1, \dots, q)$  such that  $\int_{T_{I_1}} \gamma(r) dr = \infty$ . Then, we have

$$N_1(r) \geq N_2(r) \geq \cdots \geq N_q(r).$$

By the assumption that  $f_1 \wedge \cdots \wedge f_\lambda \neq 0$ , there exists ordered set of indices  $J = \{j_1, \dots, j_\lambda\}$  with  $1 = j_1 < \cdots < j_\lambda \leq n + 1$  such that  $\det B_J \neq 0$ . We note that

$$N_1(r) = N_{j_1}(r) \geq N_{j_2}(r) \geq \cdots \geq N_{j_\lambda}(r) \geq N_{n+1}(r),$$

for each  $r \in T_{I_1}$ . We see that  $\min_{1 \leq i \leq \lambda} b_i \geq \sum_{i=1}^{\lambda} \min\{k, b_i\} - (\lambda - 1)k$ , for every non-negative integers  $\lambda$  and  $b_1, \dots, b_\lambda$ . Lemma 16 implies that

$$\begin{aligned} & \sum_{j \in J} \left( \sum_{i=1}^{\lambda} \min\{k, \nu_{(f_i, a_j), \leq k_j}^0\} - ((\lambda - 1)k + 1) \min\{1, \nu_{(f_i, a_j), \leq k_j}^0\} \right) \\ & + \sum_{j=1}^q (\lambda - l_j + 1) \min\{1, \nu_{(f_i, a_j), \leq k_j}^0\} \leq \mu_{\tilde{f}_1 \wedge \cdots \wedge \tilde{f}_\lambda}. \end{aligned}$$

on the set  $\Delta(R) \setminus (a_{j_1} \wedge \cdots \wedge a_{j_\lambda})^{-1}(0)$ . Integrating both sides of the inequality, we get

$$\begin{aligned} & \sum_{j \in J} \left( \sum_{i=1}^{\lambda} N_{(f_i, a_j), \leq k_j}^{[k]}(r) - ((\lambda - 1)k + 1)N_{(f_i, a_j), \leq k_j}^{[1]}(r) \right) \\ & + \sum_{j=1}^q (\lambda - l_j + 1) N_{(f_i, a_j), \leq k_j}^{[1]}(r) \leq N_{\tilde{f}_1 \wedge \cdots \wedge \tilde{f}_\lambda}(r) = N_{\det B_J}(r). \end{aligned} \quad (17)$$

On the other hand, by Jensen's formula, we obtain

$$N_{\det B_J}(r) \leq \int_{S(r)} \log |\det B_J| \sigma_n + O(1) \leq \sum_{i=1}^{\lambda} T_{f_i}(r) + o\left(\max_{1 \leq i \leq \lambda} T_{f_i}(r)\right). \quad (18)$$

Set  $T(r) = \sum_{i=1}^{\lambda} T_{f_i}(r)$ . Combining (17) and (18), we get for all  $r \in I_1$ ,

$$\begin{aligned} T(r) &\geq \sum_{i=1}^{\lambda} N_{j_i}(r) + \sum_{j=1}^q (\lambda - l_j + 1) N_{(f_1, a_j), \leq k_j}^{[1]}(r) + o\left(\max_{1 \leq i \leq \lambda} T_{f_i}(r)\right) \\ &\geq \frac{\lambda}{q} \sum_{j=1}^q N_j(r) + \sum_{j=1}^q (\lambda - l_j + 1) N_{(f_1, a_j), \leq k_j}^{[1]}(r) + o\left(\max_{1 \leq i \leq \lambda} T_{f_i}(r)\right) \\ &= \sum_{j=1}^q \left( \lambda - l_j + 1 - \frac{\lambda((\lambda - 1)k + 1)}{q} \right) N_{(f_1, a_j), \leq k_j}^{[1]}(r) \\ &\quad + \sum_{j=1}^q \sum_{i=1}^{\lambda} \frac{\lambda}{q} N_{(f_i, a_j), \leq k_j}^{[k]}(r) + o\left(\max_{1 \leq i \leq \lambda} T_{f_i}(r)\right) \\ &\geq \sum_{j=1}^q \sum_{i=1}^{\lambda} \left( \frac{\lambda - l_j + 1}{\lambda k} - \frac{(\lambda - 1)k + 1}{qk} + \frac{\lambda}{q} \right) N_{(f_i, a_j), \leq k_j}^{[k]}(r) \\ &\quad + o\left(\max_{1 \leq i \leq \lambda} T_{f_i}(r)\right). \end{aligned}$$

From Lemma 12 and the above inequality, we have

$$\begin{aligned} T(r) &\geq \sum_{j=1}^q \sum_{i=1}^{\lambda} \left( \frac{q(\lambda - l_j + 1) + \lambda(k - 1)}{q\lambda k} \right) N_{(f_i, a_j)}^{[k]}(r) \\ &\quad + \sum_{j=1}^q \left( \frac{q(\lambda - l_j + 1) + \lambda(k - 1)}{q\lambda k} \right) \frac{k}{k_j + 1 - k} T(r) + o\left(\max_{1 \leq i \leq \lambda} T_{f_i}(r)\right). \end{aligned}$$

It follows that

$$\begin{aligned} &q\lambda k + \sum_{j=1}^q \frac{k}{k_j + 1 - k} (q(\lambda - l_j + 1) + \lambda(k - 1)) T(r) \\ &\geq \sum_{j=1}^q \sum_{i=1}^{\lambda} (q(\lambda - l_j + 1) + \lambda(k - 1)) N_{(f_i, a_j)}^{[k]}(r) + o\left(\max_{1 \leq i \leq \lambda} T_{f_i}(r)\right). \end{aligned} \tag{19}$$

For each  $1 \leq j \leq q$ , put  $\lambda_j = q(\lambda - l_j + 1) + \lambda(k - 1)$ , we see that

$$\frac{\sum_{i=1}^q \lambda_i}{\max \lambda_i} \geq \frac{q^2 + q\lambda(k - 1)}{q(\lambda - 1) + \lambda(k - 1)} \geq \frac{q}{\lambda - 1}.$$

In other words,

- If  $k \leq \frac{n-1}{2}$ ,  $q \geq (n - k + 1)(k + 2)(\lambda - 1)$ , we get

$$\frac{\sum_{i=1}^q \lambda_i}{\max \lambda_i} \geq (n - k + 1)(k + 2) \geq (n - k_t + 1)(k_t + 2).$$

- or if  $k > \frac{n-1}{2}$ ,  $q \geq \frac{(n+3)^2}{4}(\lambda-1)$ , then

$$\frac{\sum_{i=1}^q \lambda_i}{\max \lambda_i} \geq \frac{(n+3)^2}{4} \geq (n-k_t+1)(k_t+2).$$

In these cases, for  $1 \leq t \leq \lambda$ , taking  $\gamma_t(r) = \exp\{(\min_{1 \leq i \leq \lambda} c_{f_i} + \varepsilon) \sum_{i=1}^{\lambda} T_{f_i}(r)\}$  and applying Theorem 2, we get

$$\begin{aligned} & \left\|_E \sum_{j=1}^q (q(\lambda-l_j+1) + \lambda(k-1)) N_{(f_t, a_j)}^{[k]}(r) + \right. \\ & \left. \frac{k(k+1) \sum_{i=1}^q ((q(\lambda-l_j+1) + \lambda(k-1)))}{2(k+2)} \left( (1+\varepsilon) \left( \min_{1 \leq i \leq \lambda} c_{f_i} + \varepsilon \right) T(r) + \varepsilon \log r \right) + S(r) \right. \\ & \left. \geq \frac{\sum_{j=1}^q (q(\lambda-l_j+1) + \lambda(k-1))}{k+2} T_{f_t}(r). \right. \end{aligned} \quad (20)$$

Combining inequalities (19) and (20), we have

$$\begin{aligned} & \left\|_E q\lambda k + \sum_{j=1}^q \frac{k}{k_j+1-k} (q(\lambda-l_j+1) + \lambda(k-1)) T(r) \right. \\ & \left. \frac{k(k+1) \sum_{i=1}^q (q(\lambda-l_j+1) + \lambda(k-1))}{2(k+2)} \left( (1+\varepsilon) \left( \min_{1 \leq i \leq \lambda} c_{f_i} + \varepsilon \right) T(r) + \varepsilon \log r \right) + S(r) \right. \\ & \left. \geq \sum_{t=1}^{\lambda} \frac{\sum_{j=1}^q ((q(\lambda-l_j+1) + \lambda(k-1)))}{k+2} T_{f_t}(r). \right. \end{aligned}$$

Letting  $r \rightarrow R$  ( $r \in T_{I_1}, r \notin E$ ) and  $\varepsilon \rightarrow 0^+$ , we obtain

$$\begin{aligned} & \frac{q(q(\lambda+1) - \sum_{j=1}^q l_j + \lambda(k-1))}{k+2} \leq q\lambda k + \sum_{j=1}^q \frac{k}{k_j+1-k} (q(\lambda-l_j+1) + \lambda(k-1)) \\ & + \frac{k(k+1)q(q(\lambda+1) - \sum_{j=1}^q l_j + \lambda(k-1))}{2(k+2)} \min_{1 \leq i \leq \lambda} c_{f_i}. \end{aligned}$$

Thus

$$\sum_{j=1}^q \frac{1}{k_j+1-k} \geq \frac{1}{k(k+2)} - \frac{\lambda}{q(\lambda+1) - \sum_{j=1}^q l_j + \lambda(k-1)} - \frac{k+1}{2(k+2)} \min_{1 \leq i \leq \lambda} c_{f_i}.$$

This is a contradiction. Hence, we have  $f_1 \wedge \cdots \wedge f_{\lambda} \equiv 0$ .

**Acknowledgement:** This work was done while the author was staying at the Vietnam Institute for Advanced Study in Mathematics (VIASM). The author would like to thank VIASM for the hospitality and support.



## References

- [1] H. CAO, L. DUAN, The weighted second main theorem and algebraic dependence of meromorphic mappings sharing moving hyperplanes, *Bull. Korean Math. Soc.*, **57**, 179–194 (2020).
- [2] L. N. QUYNH, Algebraic dependences of meromorphic mappings sharing moving hyperplanes without counting multiplicities, *Asian-Eur. J. Math.*, **10**, 1750040 (2017).
- [3] S. D. QUANG, Second main theorems for meromorphic mappings intersecting moving hyperplanes with truncated counting functions and unicity problem, *Abh. Math. Semin. Univ. Hambg.*, **86**, 1–18 (2016).
- [4] S. D. QUANG, D. P. AN, Unicity of meromorphic mappings sharing few moving hyperplanes, *Vietnam Math. J.*, **41**, 383–398 (2013).
- [5] S. D. QUANG, Algebraic dependences of meromorphic mappings sharing few moving hyperplanes, *Ann. Polon. Math.*, **108**, 61–73 (2013).
- [6] S. D. QUANG, Second main theorems with weighted counting functions and algebraic dependence of meromorphic mappings, *Proc. Amer. Math. Soc.*, **144**, 4329–4340 (2016).
- [7] S. D. QUANG, Second main theorems for meromorphic mappings and moving hyperplanes with truncated counting functions, *Proc. Amer. Math. Soc.*, **147**, 1657–1669 (2019).
- [8] S. D. QUANG, Second main theorem for holomorphic maps from complex disks with moving hyperplanes and application, *Complex Var. Elliptic Equ.*, <https://doi.org/10.1080/17476933.2021.1984438>.
- [9] S. D. QUANG, Holomorphic maps from complex discs intersecting hypersurfaces of projective varieties, to appear in *Complex Variables and Elliptic Equation*, <https://doi.org/10.1080/17476933.2022.2076842>.
- [10] L. N. QUYNH, Algebraic dependences of meromorphic mappings sharing moving hyperplanes without counting multiplicities, *Asian-Eur. J. Math.*, **10**, 1750040 (2017).
- [11] M. RU, W. STOLL, The second main theorem for moving targets, *Journal of Geom. Anal.*, **1**, 99–138 (1991).
- [12] M. RU, A uniqueness theorem with moving targets without counting multiplicity, *Proc. Amer. Math. Soc.*, **129**, 2701–2707 (2001).
- [13] M. RU, J. T-Y. WANG, Truncated second main theorem with moving targets, *Trans. Amer. Math. Soc.*, **356**, 557–571 (2004).
- [14] M. RU, N. SIBONY, The second main theorem in the hyperbolic case, *Math. Annalen*, **377**, 759–795 (2020).
- [15] M. SHIROSAKI, Another proof of the defect relation for moving target, *Tohoku Math. J.*, **43**, 355–360 (1991).

- [16] M. SHIROSAKI, On defect relations of moving hyperplanes, **120**, 103–112 (1990).
- [17] W. STOLL, On the propagation of dependences, *Pacific J. Math.*, **139**, 311–337 (1989).
- [18] D. D. THAI, S. D. QUANG, Uniqueness problem with truncated multiplicities of meromorphic mappings in several complex variables for moving targets, *Internat. J. Math.*, **16**, 903–939 (2005).
- [19] D. D. THAI, S. D. QUANG, Second main theorem with truncated counting function in several complex variables for moving targets, *Forum Mathematicum*, **20**, 145–179 (2008).
- [20] P. D. THOAN, P. V. DUC, Algebraic dependences of meromorphic mappings in several complex variables, *Ukrain. Math. J.*, **62**, 923–936 (2010).
- [21] P. D. THOAN, P. V. DUC, S. D. QUANG, Algebraic dependence and unicity theorem with a truncation level to 1 of meromorphic mappings sharing moving targets, *Bull. Math. Soc. Sci. Math. Roumanie*, **56 (104)**, 513–526 (2013).
- [22] P. D. THOAN, N. H. NAM, N. V. AN, Second main theorems with weighted counting functions and its applications, *Indian Journal of Pure and Applied Mathematics*, **50**, 849–861 (2019).

Received: 25.11.2021

Revised: 13.04.2022

Accepted: 02.05.2022

Department of Mathematics and Informatics, Thang Long University,  
Nghiem Xuan Yem street, Hoang Mai, Hanoi, Vietnam  
E-mail: [nhungnt@thanglong.edu.vn](mailto:nhungnt@thanglong.edu.vn)